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208 |ZEEE  |200603138 |#IEE Al | ICU2HPIE20A1 [FREHER |ZR/SRT [79.65| 87.9] 2
209 |2UhE  |200603026 |3FIEE L |1CU2{PIE20A1 [FEIFIBR |ZR/ERT | 86.8/86.45] B
210 |3 (200603039 [$PIEE | ICU2$PIE20A1 [FEEHIER  [=R/ER/T  |87.45(87.35| =
211 [EZED 1200603040 |#FEEEl | ICU2IPEE20M | HREHFER  |ZR/SRT | 80.6| 86.8 &
212 |4kee 200603043 [fPIEE Al [ICU2$PIE20A1 |FFEFER [ZRH/ERT  [83.75[91.05) =
213 |SEAEH |200603046 |3PIEE L | 1CU2{P3E20A1 [FEFIER |ZR/E%RT | 81.6] 83 R
214 |EEIE  |200603047 |$FEEEAL | ICU24PEE20A1 [FEFER |ZR/SKT [82.15) 861 &
215 |F#RiEFE  |200603059 |33EE Al | 1CU24PIR20A1 |FEFER |ZH/SHKT | 82.6[ 80.7] B
216 |REIE  |200603068 |#IEE L | ICU2PIE20A1 [FREHIER |ZR/SRT | 81.6/86.75| £
217 |BR#038  |200603119 [$P3BL 0l | ICU23P3E20A1 |HREPER |ZR/SRT 84.8| 85.1| &=
218 |FERIA  |200603135 |#PEEEAL | ICU24PEE20A1 [FEFER  |SR/EKT [90.45) 88.6 &
219 |EERER 200603141 [4PIBEEA | ICU24PIE20A | EHER [Z=R/ERT 80.6| 89.35 &
220 | F & 200603148 [$PIEE | ICU2$PIE20A1 |2 ER (= R/ERT 81.1 88| =
221 |FAEA |200603151 |#F3RE AL | 1CU24PIE20M |FEFIER |=H/SKT  |84.75[88.15| =
222 |=m 200603165 |$PIEE L |ICU24PIR20A1 |FREPFIER  [=R/SRT | 80.9|85.55| 2
223 |EEF  |200603175 |3F3EE L |1CU2{P3E20A1 | EFIBER |ZR/E%RT |88.85 88.7] R
224 | 5838 |200603182 |#3BE L | ICU2PER20A1 [FEHFBR |ZR/SRT [79.75/86.35| =
225 |EEX¥  |200603190 |#IEE L | 1CU2PIE20A1 [FEHIER |=R/SHRT | 87.8/89.35 2
226 |FRASC  |200603194 |#PIEEAL | ICU24PEE20A1 [FEFER |SR/SKT | 78.4/86.35| &
227 |3k W 200603257 [$F3EFl | ICU23PIE20A1 |FREIFIER  |ZR/SRT [ 76.65|86.75| =
228 [FRET7K  |200603344 |3PIEEl | ICU23PIE20M |HREHFER |ZH/SRT  [87.55) 89.7] =
229 [3K3Im3r (200603347 [$PIEE | ICU2$PIE20A1 [ EHER (= R/ERT 86.7| 89.5| &
230 |\BAEI |200603360 |3FIEE L | 1CU2{PIE20A1 |FEIFIER |ZR/EHRT |85.65/87.35] R
231 [EFH] |200603418 |#FEEEl | ICU2IPEE20M | HREHFER |ZR/SRT | 87.1[89.25| &
232 [EBESR  |200603419 |3PIEEl | ICU23PTE20M |FREHFER  |ZH/SRT [81.95)89.35] =
233 [Z=H8sr (200603422 [4PIEEN | ICU23PIE20A1 [ EHER (= R/ERT 76.4 88 &
234 [FRIRIA |200723200 |3PFEE | 1CU23PIE20A1 |FREFIBR  |ZR/SRT [ 78.55| 87.2] 2
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